No 1

Fo3s8[afn = ik BBt s b A RS

TOP8—Hi#k (&)

SH6E4A27H (1)
o BN N [ e L iR

K&za— K 24 12 0728
Bt = — K 123040

Efe ke LB

iR (W) T e
(—8) AT E

EE ke L

H {4 [EdE] 17 201 30 a0 501 61 0 801
100m Bl ZEE (2) 13.07 | M AR (2) 13.09 | JEE EA4 (3) 1311 [#xov &S (2) 13.26 | R ZEx (3) 13.27 | M OAKE (2) 13.30 | M EE (2 13.41 [ BE o (3) 13.44
AKS TC (+0.4) | FAH (+0.4) | F=mh (+0.4) | R (+0. 4) R (+0.4) | EFH (+0.4) | FERIR T (-1.2) | AKS TC (-1.2)
200m noby TRl (3) 26039 | A EIFE (2) 28.18 | W EA (3) 29.23 | WK MEH (3) 20.74 | /NI EEEE () 20.89 | B EUR (2 30.00 | SPE EET (3) 30.19 | IHF % (3) 30.51
T (-0.6) L (-0.6) B (-0.6) | #HerHh (-0.6) | F= (-0.6) | /hadtr (-0.6) | Hriay=rg (-0.6) | WARFH (-0.6)
800m Wk ET(3) 2:26.23| M FJh o (3) 2:28.48| A% FELR  (2) 2:29.67| WL B (3) 2:20.84 AK i (3) 2:30.58| FREr EHE  (2) 2:32.22| WHE X4 (3) 2:34.38] @WA B (3) 2:34.46
M= oyl N g /ST S EL Heorwam TR
1500m FIE % (3) 4:49.36|HIH DDA (2) 4:49.87| FHf DfE () 4:51. 09| KE W] Al (3) 4:52.47| KR #F  (3) 4:52.50| fchy &1E  (3) 4:53.45| UaS B (3) 4:54.47| 4K Fk  (3) 4:56.43
oyl AR (AP WA far [ARENCH Heorwam E=E
100mH AR ZED (2) 16.28 | CFM ERE (3) 15.87 | HE M (3) 15.93 | (Ll #EAE (3) 16.14 | @t #EEL  (3) 16.31 | JIWE WeFn (2) 16.53 | Kl BEE (3) 16.90 [ &)l HE (3) 16.95
(0.762m/8.00m) |  AKS TC (+1.2) | 5 P (+1.2) Wi (+1.2) | Fnga r 57f (+1.2) | AKS TC (-1.5) | Ffprp (-1.5) | #Rr (-1.5) RFEH (-1.6)
27 4X100mR AKS TCA 49.77 | RAFRHA 52.80 | FFRT-HA 52.83 | /IMEREHA 52.89 | FHHA 52.92 | FAFHHA 53.28 | INFEHA 53.43 | Kiftr LA 53. 64
il E () AR EE Q) A BAL (3) T#& Bt R (@) A BRE Q) wIEE ) IR E (2
THAK L (2) HHE AL (2 B A (2) HH ED ©) L E () rotty Te=r (3) HEE© S e )
BE vo @) I EE ) Kili & ©) WK PIE (@) S Z2AH @ SN &I (3) ANE WRZE (2) g £0dH (2
gkt S s 2L 2 JIE wefn (2) PNIE= e INE TR (3) IR EE (2) R &x ) BN A (3)
&bk fow veriE (2)  1mds | A A& @) Imd0 | MR AR (3) Im35 |3) L= MhE (3)  Im35 |3 EUWE (D 1m35 | kM BME (2 1m35 [6)EM BA () md3s | BE HZ () Imds
/N /N [iil2k Tl EFFEAR T AL ER Letor-p [iil2k Tl R
AR BE ik FHEZT (3)  5ml4 B ¥ (@ 4md8 | JEK PIRE () 4mdb | BE E%E () 4mdd MR A% () 4mdd | KT @F (2) 4md3 | L S22 (2 4mdl | R 275 (2 4m39
76 BHAC (+0.7) AKS TC (+0.2) | /NeEET (+0.7) | AFMH (+1.5) I (+0.9) | ABLBDAC (+1.3) NE (+1.2) | #WHeEH (+1.1)
iz Am 7HY (2) 10m77 | JIA @5 (3) 10m29 | R W3 (3)  9m85 AR A (2 9m26 | BER mx (3 9m20 Fi& (2 8m8s | AWFE L (3) 8me6 | I BiF (3)  8m23
(2. 721kg) Wi i iUz h KPS B = e /NG /N NFEH AR

8D vtk RE (RE—b)

BREBRFT X KR




